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F:r i in Pange(l 7):
for j in range(1, 1+1)
print(j,end="")
print()
import os
os.system( 'pause’)




i in range(1,7):
for j in range(1,i+1):
print(j,end="")
print()
import os
os.system( 'pause’)
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1*1=11%*2=21*3=31*4=41*5=51*6=61*7=71*8=81%9=91*10=101*11=111*12=
121%*13=131*%14=141*15=151*16=161*17=171*18=181*19=19
2%1=22%2=42%3=62%4=82%5=102*%6=122*7=142*%8=162%9=182%10=202%11=22
2%¥12=242%13=262%14=282*15=302*16=322*17=342*18=362*19=38
3%1=33*2=63%3=93*4=123*5=153*%6=183*7=213*8=243*%9=273*10=303*11=3
33*12=363*13=393*14=423*15=453*16=483*17=513*18=543*19=57
4*%]1=44%2=84%3=124*%4=164*%5=204*%6=244%7=284%8=324%9=364*10=404*11=
444%]12=484%13=524%14=564*15=604*16=644*17=684*18=724*19=76
5*1=55%2=105*3=155*%4=205*5=255*6=305*7=355*8=405*9=455*10=505*11
=555*12=605%*13=655*14=705*15=755*16=805*17=855*18=905*19=95
6*1=66%2=126*3=186%4=246*5=306*6=366%*7=426*%8=486%*9=546*10=606*11
=666%12=726*13=786%14=846*15=906*16=966%17=1026*18=1086*19=114
7*1=77%2=147%3=217*4=287*5=357*6=427*7=497*8=567*9=637*10=707*11
=777%12=847*13=917*14=987*15=1057*16=1127*17=1197*18=1267*19=133
8*1=88%2=168*%3=248*%4=328*5=498*%6=488*7=568*8=648%*9=728*10=808*11
=888%12=968*%13=1048*14=1128*15=1208*16=1288*17=1368*18=1448*19=1
52
9*1=99*2=189*%3=279*%4=369*%5=459%6=549%7=639*8=729*%9=819*10=909*11
=999*12=1089*%13=1179*%14=1269*15=1359%16=1449*17=1539*18=1629*19=
171
10*1=1010*2=2010*3=3010*4=4010*5=5010*6=6010*7=7010*8=8010*9=901
0*10=10010*11=11010%12=12010*13=13010*14=14010*15=15010*16=16010
*¥17=17010*18=18010*19=190
11*%1=1111*2=2211*%3=3311*%4=4411*%5=5511*6=6611*7=7711*%8=8811*9=991
1*10=11011*11=12111%12=13211*13=14311*14=15411*15=16511*16=17611
*¥17=18711*18=19811*19=209
12%1=1212%2=2412*%3=3612%4=4812*5=6012*6=7212*7=8412%8=9612*9=108
12*10=12012*11=13212%12=14412*13=15612*14=16812*15=18012*16=1921
2*¥17=20412*18=21612%19=228
13*1=1313*2=2613*%3=3913*4=5213*5=6513*6=7813*7=9113*8=10413*9=11
713%10=13013*11=14313*%12=15613%13=16913*14=18213*15=19513*16=208
13*17=22113*18=23413*19=247
14*1=1414%2=2814%3=4214*%4=5614*5=7014*6=8414*7=9814%8=11214*9=12
614%10=14014*11=15414*%12=16814%13=18214*14=19614%15=21014*16=224
14*17=23814*18=25214*19=266
15*1=1515*2=3015*%3=4515*4=6015*5=7515*6=9015*7=10515*8=12015*9=1
3515*10=15015*%11=16515%12=18015*13=19515%14=21015%15=22515*16=24
@15*17=25515*18=27015*19=285
16*1=1616*2=3216*3=4816*4=6416*5=8016*6=9616*7=11216*8=12816*9=1
4416*10=16016*11=17616*12=19216*13=20816*14=22416*15=24016*16=25
616*17=27216*18=28816*19=304
17%1=1717%2=3417%3=5117%4=6817%5=8517%6=10217*7=11917%8=13617%9=
15317*10=17017*11=18717%12=20417*13=22117*14=23817*15=25517*16=2
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16218*10=18018*11=19818*12=21618%13=23418*14=25218*15=27018*16=2
8818%17=30618*18=32418%19=342
19%1=1919%2=3819%3=5719%4=7619*5=9519*6=11419*7=13319%8=15219%9=
17119%10=19019*11=20919%12=22819%13=24719*14=26619*15=28519*16=3
P419*17=32319%18=34219*19=361
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for % in range(1,20):
for j in range(1,20):
pplnt(llr*:ljl:=:Ji*jl:,JSEP=::Jend=::)

_ print()
import os
os.system( 'pause ")




or j in range(1,1):
if 1 % j==e:
sum+=3j
if sum==i:
print(1i)

import os
os.system( 'pause’)
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i in range(5,0,-1):
for j in range(i,1,-1):
print(’ ',end="'")
for k in range(©,6-1):
print('*',end="")
print()
i-‘r‘|p::: ~tT 0s
os.system( 'pause’)
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print(‘'1',end="")

print(‘'@’',end="")
Jj=j+1
print()
i=i+1
import os
os.system( 'pause’)




import random
a=o9
while True:
n=random.randint(1,6)
print(n)
1f n==1:
a+=1
if a=
=
import os
os.system( 'pause’)




max=0

A=[0]*10

import random

for i in range(10):
A[i]=random.randint(e,101)
print(A[i])

for 1 in range(10):

import os
os.system( "pause”)




t=06
A=[0]*40
import random
for i in range(49):
A[i]=random.randint(e,100)
print(A[i], ", ",sep="",end="")
for j in range(40):
if A[j] < ee:
t+=1
print ("
import os
os.system( "pause"”)
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kﬂpcrt random
x=[[@]*3 for i in range(10)]
for i in range(1@):
a=e
print("&","{:>2}".format(i+1), "/
for j in range(3):
x[1i][j]=random.randint(@,100)
print("{:<3}".format(x[1i][]j]),end="
if x[1][J]t=x[1][2]:
a+=x[1][j]*e.3

[i]1[j]*e.
',"{:g}".format(a+b))

import os
os.system( "pause™)
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import random
A=[[©]*3 for i in range(3)]
or 1 in range(3)]
print("/ f2m)
for 1 in range(3):
for j in range(3):
A[i][j]=random.randint(@,9)
print(A[i][j],end=" ")
print()
print("&i#ES):")
for 1 in range(3):
for j in range(3):
a[1][j1=A[3]1[1]
print(a[i][j],end=" ")
print()
import os
os.system( "pause™)
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sum=sum¥*1
return sum

n=int (input (" ;ZF&; A
print(f(n))

import os
os.system( "pause”)
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while bl!=6:
temp=a % b
a=b
b=temp
print( 'A£H

a=int(input( ’;
b=int(input(’;
ged(a,b)

import os
os.system("pause™)
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os.system( 'pause’)

15




7
43
s
H

b(int(input(';Z&i A
os.system( 'pause’)
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a=int(input(';Z

b=int(input(’';Z

c=int(input(';Z

print(max(a,b,c))

import os

os.system( 'pause’)
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print("F(",k,")=",value)
return value
k=int (input(";ZF&y ARE?"))
result=F (k)
print(“"F(",k,")=",result)
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a=f(x-1)+x
return a

import os
os.system( "pause™)
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+ f(n,A,B,C):
if n

print(str(n)+": “U+ A+"EM+ C)
f(n-1,A,C,B)
print(str(n)+": CU+ A+ E+C)
f(n-1,B,A,C)
n=int(input (" iF& A )
f(n,"A","B","C")

import os
os.system( ‘pause ')
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s=s.strip(’.
s=s.split("’
print(s[::-1]

import os
os.system( 'pause’)
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‘Fiona'}

[

i =set([ 'John', 'Mary', 'Tina', "Fiona', 'Claire’', 'Eva’', 'Ben', 'Bill"', 'Bert'])
%=set(['John’, 'Mary', 'Fiona', 'Claire', 'Ben', 'BilL"'])
r !Jlsenr])

print(’
print( "
print(’

import OF|
o0s.system( 'pause ")
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b.remove( '
b.remove( '
b.remove( '

a.remove( '
a.remove( ' -
print(a&b)

import os
os.system( 'pause’)
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mail=dict()
name=input( ';
mail[name]=input(
name=input( ‘;
mail[name]=input(
name=input( ';

mail[name]=input(

name=input(’;
print(mail[name])

import os
os.system( '‘pause’)
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/hile sum<=1000:
sum=sum+n**2
n+=1

print(" s S
import os
0s.system("pause")

e R
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fy500 1 * 11 , 10070 *4{[E , 107C* 71 , 570 *11E ,
(Fy50071* 11 , 10071 *4{[E , 1070 * 71 , 570 * 1@,
fy500 1 * 11 , 10070 *4{[E , 107C* 71 , 570 *11E ,
(Fy50071* 11l , 10071 *4{E , 1070 * 71 , 570 * 1@,
Ry50071* 11 , 10071 *4{[E , 107C* 81 , 571 *effE ,
Ry50071* 11 , 10071 *4{[E , 107C* 81 , 571 *effE ,
(Fy50071* 11l , 10071 *4{E , 1071 * 81 , 570 *0ffE,
Ry50071* 11 , 10071 *4{[E , 107C* 81 , 571 *effE ,
(Fy50071* 11l , 10071 *4{E , 1071 * 81 , 570 *0ffE,

985 FITER el 550071 * 1{E, 10@7T *4{[E , 10 T *8{El, ST * 11,
1c*e '1' )

h = [[@]*5 for 1 in range(1000)]
500, 100, 10, 5, 1]

L
-1
t

while tmp >= m[j]:
#print(tmp)
tmp = tmp - m[j]
c=c+1
ch[i][j] = ¢

print(i, "4 , end="")
for j in range(5)

print(m[j], "7z*",ch[i][j], "/, ",sep="",end="")
print()
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def ged(a,b):
if (a == 0):
value =

else:

value = gcd(a%b, a)
return value

a = int(input(";Z#5 Aa/E?"))

b = int(input(";Z8; AbE?"))

result = gcd(a,b)

print(a, "£i",b, "5 2", result
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#a=time. tlmuhj
if n==1:
print(A, "-->",C)
return
f(n-1, A, B, C)
print(A, "-->",C)
f(n-1, B, C, A)
#b=time.time()
#print ("FNTT
n=int(input( '3

_F(n, rAr, rc-l, rBr)
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nf{lnpuf(
for i in dnge(l,n+l)
for j in range(10-i):
print(10-i,end="")
print()
‘or i in range(10-n+1,10):
for j in range(i):
print(i,end="")
print()

import os
os.system( “pause™)
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s=open(filename, 'r').read()
charl="abcdefghijklmnopgrstuvwxyz"
char2="ABCDEFGHIJKLMNOPQRS TUVWXYZ "

for i in range(0,26):
print(char2[i], 'or', charl[i],' - ',s.count(charl[i])+s.count(char2[i]))
#print(s)
import os
o0s.system("pause™)
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